

Equivalence of (A.D.M, H.P.M, A.P.M) for Solving Functional Equations

J. Biazar, P. Shams Derakhsh *

Department of Mathematics, Faculty of Science University of Guilan, P.O. Box 1914, P.C. 41938, Rasht, Iran

*Corresponding Author: shams9077@yahoo.com

Copyright © 2014 Horizon Research Publishing All rights reserved.

Abstract The Adomian's decomposition method, the Homotopy perturbation method, and Lyapunov's method are three powerful methods which consider an approximate solution of linear and non-linear equations, as an infinite series. In this paper, we show that these three methods are equivalent in solving functional equations. To illustrate the capability and reliability of the methods two examples are provided. Numerical solutions obtained by these methods are compared with the exact solutions we see that usually converging to an exact solution.

Keywords Adomian's Decomposition Method; Homotopy Perturbation Method; Artificial Small Parameter Method; Functional Equations; Infinite Series

1. Introduction

Adomian has developed a numerical technique for solving functional equations. This method well addressed in [1-3] has been applied to solve many functional equations and systems of functional equations. The homotopy perturbation method (HPM) was established by Ji-Huan He in 1999. In this method, the solution is considered as the sum of an infinite series, which converges rapidly to accurate solutions. It is also a powerful and efficient technique for solving non-linear functional equations, without the need of linearization process. H.P.M is a combination of the perturbation and Homotopy methods. It constructed with an embedding parameter $p \in [0,1]$ which is considered as a small parameter. In recent years, some applications of the perturbation techniques [4-8] for non-linear problems have been studied. Artificial small parameter method has been introduced by Lyapunov, which is usually applied to solve non-linear functional equations. In this method an artificial parameter is as a factor to non-linear part of equation [9-10]. In this paper we show that the ADM, APM and HPM are equivalence for functional equations.

2. Illustrate the Equivalence of Methods

It is worth to mention that the solution in all of these methods are as a power series. Let us consider the non-linear functional equation:

$$A(u) - f(r) = 0, \quad r \in \Omega, \quad (1)$$

$$B\left(u, \frac{\partial u}{\partial n}\right) = 0, \quad r \in \Gamma. \quad (2)$$

Where Γ is the boundary of the domain Ω , and A is a functional operator and f is a known analytic function. The operator A can be decomposed into a linear part, L and a non-linear part, N . Hence Eq.(1) can be written as the following form:

$$L(u) + N(u) - f(r) = 0. \quad (3)$$

Using homotopy technique, we construct a homotopy $v(r,p) : \Omega \times [0,1] \rightarrow \mathbb{R}$ which satisfies

$$H(v,p) = (1-p) [L(v) - L(u_0)] + p [A(v) - f(r)] = 0, \quad (4)$$

Or

$$H(v,p) = L(v) - L(u_0) + pL(u_0) + p [N(v) - f(r)] = 0. \quad (5)$$

Where $p \in [0,1]$ is an embedding parameter and u_0 is an initial approximation the solution of Eq.(1) which satisfies the boundary conditions. Obviously, from Eq.(5) we will have

$$H(v,0) = L(v) - L(u_0) = 0, \quad H(v,1) = A(v) - f(r) = 0. \quad (6)$$

We consider the solution of Eq.(5) as a power series over p , as follows:

$$v = v_0 + pv_1 + p^2v_2 + \dots, \quad (7)$$

and setting $p = 1$ results in the approximate solution for Eq.(1)

$$u = \lim_{p \rightarrow 1} v = v_0 + v_1 + v_2 + \dots$$

substituting this infinite series into Eq.(5), leads to

$$L\left(\sum_{i=0}^{\infty} v_i p^i\right) - L(u_0) = p [f(r) - L(u_0) - N\left(\sum_{i=0}^{\infty} v_i p^i\right)]. \quad (8)$$

$$N\left(\sum_{i=0}^{\infty} v_i p^i\right) = \sum_{i=0}^{\infty} B_i p^i. \quad (9)$$

Putting (7) into (8), and comparing the coefficients of the terms with identical powers of p :

$$\begin{aligned} P^0: L(v_0) - L(u_0) &= 0, \\ P^1: L(v_1) &= f(r) - N(u_0) - L(u_0), \quad v_1(x,0) = 0, \\ &\vdots \end{aligned}$$

We have

$$V_0 = u_0, \quad V_1 = L^{-1}(f(r)) - L^{-1}(N(u_0)) - L^{-1}(L(u_0)), \quad (10)$$

$$u_{HPM} = L^{-1}(f(r)) - L^{-1}(N(u_0)) + \dots \quad (11)$$

By using, Artificial parameter method we have

$$L(u(r)) + p(N(u(r))) - f(r) = 0.$$

Letting $u = \sum_{i=0}^{\infty} u_i p^i$, results in

$$L(\sum_{i=0}^{\infty} u_i p^i) + pN(\sum_{i=0}^{\infty} u_i p^i) = f(r). \quad (12)$$

By comparing the coefficients of the terms with identical powers of p ,

$$\begin{aligned} P^0: L(u_0) - f(r) &= 0, \\ P^1: L(u_1) + N(u_0) &= 0, \quad u_1(x,0) = 0, \\ &\vdots \\ u_0 &= L^{-1}(f(r)), \\ u_1 &= -L^{-1}(N(u_0)), \\ &\vdots \end{aligned}$$

$$u_{APM} = L^{-1}(f(r)) - L^{-1}(N(u_0)) - \dots \quad (13)$$

Comparison of Eqs.(11),(13) shows that these two methods are equivalent. The Artificial parameter methods theoretically reduces to the Adomian decomposition method and each in homogeneous part of these linear functional equations gives Adomian polynomials respectively. Because, the Adomian polynomials decomposition method for problem (1) assumes a series solution for u, say

$$u = \sum_{n=0}^{\infty} u_n = u_0 + u_1 + u_2 + \dots \quad (14)$$

canonical form of equation in Adomian decomposition is as the following

$$u = L^{-1}(f(r)) - L^{-1}(N(u)). \quad (15)$$

By substituting Eq.(14) into Eq.(15) we have

$$\sum_{n=0}^{\infty} u_n = L^{-1}(f(r)) - L^{-1}(N(\sum_{n=0}^{\infty} u_n)). \quad (16)$$

And the non- linear operator can be decomposed as follows

$$N(u) = \sum_{n=0}^{\infty} A_n$$

Where G is an analytic nonlinear operator and A_n 's are the Adomian polynomials of u_0, u_1, \dots giving by

$$A_n = \frac{1}{n!} \left[\frac{d^n}{d\lambda^n} G(\sum_{i=0}^{\infty} \lambda^i u_i) \right]_{\lambda=0}.$$

Substituting Eq.(14) into Eq.(13) yields

$$\sum_{n=0}^{\infty} u_n = f + L(\sum_{n=0}^{\infty} u_n) + \sum_{n=0}^{\infty} A_n(u_0, u_1, \dots, u_n) \quad (17)$$

$$u_0 = u(0) + L^{-1}(f(r)),$$

$$u_1 = -L^{-1}(A_1),$$

\vdots

$$u_{n+1} = -L^{-1}(A_n), \quad n=0,1,2,\dots \quad (18)$$

Now let's take $u_\lambda = \sum_{n=0}^{\infty} u_n \lambda^n$, and $N(u_\lambda) = \sum_{n=0}^{\infty} A_n \lambda^n$, which shows the equivalence of Artificial small parameter and Adomian decomposition method.

By comparison Eq.(18) and Eq.(9) we have

$$A_n = B_n, \quad n=0,1,2,\dots$$

And by compare Eq.(11) with Eq.(17) if we have $v_1 = u_1$ and $u_0 = v_0$ then $u_n = v_n$, $n=0,1,2$. We see that, Adomian method equivalence with homotopy method, and where $L^{-1}(f(r)) = 0$,

$L^{-1}(L(u_0)) = 0$. Exactly these methods are the same.

3. Examples

3.1. Example1.

let's solve the following partial differential equation:

$$\begin{aligned} t \frac{\partial^2 u}{\partial x^2} + u \left(\frac{\partial^2 u}{\partial x \partial t} \right) + (x-1) \frac{\partial u}{\partial t} &= 2tx, \\ u(0,t) &= t^2, \end{aligned} \quad (19)$$

With an exact solution $u(x,t) = x^2 + t^2$.

By Adomian decomposition approach:

$$u_0 = \frac{x^3}{3} + t^2,$$

$$u_{n+1} = - \int_0^x \int_0^x A_n(u_0, u_1, \dots, u_n) dx dx - \int_0^x \int_0^x \left(\frac{x-1}{t} \frac{\partial u_n}{\partial t} \right) dx dx, \quad (20)$$

to find A_n let $u_\lambda = \sum_{n=0}^{\infty} u_n \lambda^n$,

$$G_\lambda(u) = \frac{u_\lambda}{t} (u_\lambda x t).$$

By using an alternate algorithm for computing Adomian polynomials[2],

$$A_0(u_0) = \frac{1}{t} u_0 \frac{\partial^2 u_0}{\partial x \partial t},$$

$$A_1(u_0, u_1) = \frac{1}{t} \left(u_0 \frac{\partial^2 u_1}{\partial x \partial t} + u_1 \frac{\partial^2 u_0}{\partial x \partial t} \right),$$

\vdots

From (20) we have :

$$u_0 = \frac{x^3}{3} + t^2,$$

$$u_1 = - \int_0^x \int_0^x A_0(u_0) dx dx - \int_0^x \int_0^x \left(\frac{x-1}{t} \frac{\partial u_0}{\partial t} \right) dx dx = - \frac{x^3}{3} + x^2,$$

$$u_2 = - \int_0^x \int_0^x A_1(u_0, u_1) dx dx - \int_0^x \int_0^x \left(\frac{x-1}{t} \frac{\partial u_1}{\partial t} \right) dx dx = 0,$$

A three terms approximation leads to the exact solution

$$u = x^2 + t^2.$$

Homotopy perturbation method approach:

$$H(v, p) = (1-p) \left(\frac{\partial^2 v}{\partial x^2} - \frac{\partial^2 u_0}{\partial x^2} \right) + p \left(\frac{\partial^2 v}{\partial x^2} + \frac{1}{t} \left(v \frac{\partial^2 v}{\partial x \partial t} \right) + \frac{1}{t} (x-1) \frac{\partial v}{\partial t} - 2x \right) = 0, \quad (21)$$

Substituting Eq.(7) into Eq.(21) and equating the terms with identical powers of p, leads to

$$\begin{aligned} p^0: \quad & \frac{\partial^2 v_0}{\partial x^2} - \frac{\partial^2 u_0}{\partial x^2} = 0, & v_0(0,t) &= t^2, \\ p^1: \quad & \frac{\partial^2 v_1}{\partial x^2} = -\frac{\partial^2 u_0}{\partial x^2} - \frac{1}{t} v_0 \frac{\partial^2 v_0}{\partial x \partial t} - \frac{1}{t} (x-1) \frac{\partial v_0}{\partial t} + 2x, & v_1(0,t) &= 0, \\ p^2: \quad & \frac{\partial^2 v_2}{\partial x^2} = -\frac{1}{t} v_0 \frac{\partial^2 v_1}{\partial x \partial t} - v_1 \frac{\partial^2 v_0}{\partial x \partial t} - \frac{1}{t} (x-1) \frac{\partial v_1}{\partial t}, & v_2(0,t) &= 0, \\ & \vdots & & \end{aligned} \quad (22)$$

Solving Eqs.(22), results in:

$$\begin{aligned} V_0(x,t) &= t^2, \\ V_1(x,t) &= x^2, \\ V_2(x,t) &= 0, \\ &\vdots \end{aligned}$$

Therefore, three terms approximate solution, as $p \rightarrow 1$ will be as follows

$$u(x,t) = t^2 + x^2.$$

Also it is an exact solution.

Artificial parameter approach:

In APM let s represent Eq.(19) as the following

$$u_{xx} + p \left(\frac{1}{t} u u_x + \frac{1}{t} (x-1) u_t \right) - 2x = 0, \quad (23)$$

and the solution as the following form

$$u(x,t) = u_0(x,t) + p u_1(x,t) + p^2 u_2(x,t) + \dots \quad (24)$$

where p is an artificial small parameter.

By substituting Eq.(24) into Eq.(23), comparing the terms with identical powers of p, we have

$$\begin{aligned} \frac{\partial^2 u_0}{\partial x^2} - 2x &= 0, & v_0(0,t) &= t^2, \\ \frac{\partial^2 u_1}{\partial x^2} + \frac{1}{t} u_0 \frac{\partial^2 u_0}{\partial x \partial t} + \frac{1}{t} (x-1) \frac{\partial u_0}{\partial t} &= 0, & v_1(0,t) &= 0, \\ \frac{\partial^2 u_2}{\partial x^2} + \frac{1}{t} u_0 \frac{\partial^2 u_1}{\partial x \partial t} + u_1 \frac{\partial^2 u_0}{\partial x \partial t} + \frac{1}{t} (x-1) \frac{\partial u_1}{\partial t} &= 0, & v_2(0,t) &= 0, \\ & \vdots & & \end{aligned}$$

Which gives

$$u_0(x,t) = t^2 + \frac{x^3}{3},$$

$$u_1(x,t) = x^2 - \frac{x^3}{3},$$

$$u_2(x,t) = 0,$$

\vdots

Which $u = t^2 + x^2$ is an exact solution.

3.2. Example2

Consider the following system of equations:
consider the inhomogeneous system:

$$u(x) = 1 + \int_0^x u^2 v \, dx$$

$$v(x) = 1 - \int_0^x v^2 u \, dx. \quad (25)$$

With the exact solution:

$$u(x) = e^x, \quad v(x) = e^{-x}.$$

Using the Adomian decomposition method for the linear terms $u(x)$ and $v(x)$ and for the nonlinear terms u^2v and v^2u , we obtain

$$\sum_{n=0}^{\infty} u_n(x) = 1 + \int_0^x \sum_{n=0}^{\infty} A_n(x) \, dx,$$

$$\sum_{n=0}^{\infty} v_n(x) = 1 + \int_0^x \sum_{n=0}^{\infty} B_n(x) \, dx, \quad (26)$$

where A_n and B_n are the so-called Adomian polynomials for the nonlinear terms u^2v and v^2u respectively. The simplest formula for evaluating Adomian polynomials for the nonlinear function $F(u)$ is given by

$$K_n = \frac{1}{n!} \frac{d^n}{d\lambda^n} [F(\sum_{i=0}^{\infty} \lambda^i u_i)]_{\lambda=0}, \quad n = 0, 1, 2, \dots$$

So that

$$A_0 = u_0^2 v_0,$$

$$A_1 = 2u_0 v_0 u_1 + u_0^2 v_1,$$

$$A_2 = 2u_0 v_0 u_2 + 2u_0 u_1 v_1 + v_0 u_1^2 + u_0^2 v_2,$$

$$\vdots \quad (27)$$

And

$$B_0 = v_0^2 u_0,$$

$$B_1 = 2u_0 v_0 u_1 + v_0^2 u_1,$$

$$B_2 = 2u_0 v_0 v_2 + 2v_0 u_1 v_1 + u_0 v_1^2 + v_0^2 u_2,$$

\vdots

Substituting (27) and (28) into (26) and following the Adomian algorithm we find

$$(u_0(x), v_0(x)) = (1, 1),$$

$$(u_1(x), v_1(x)) = (x, -x),$$

$$(u_2(x), v_2(x)) = \left(\frac{1}{2!} x^2, \frac{1}{2!} x^2 \right),$$

$$(u_3(x), v_3(x)) = \left(\frac{1}{3!} x^3, \frac{1}{3!} x^3 \right),$$

\vdots

Combining these results yields the series solutions

$$u(x) = 1 + x + \frac{1}{2!} x^2 + \frac{1}{3!} x^3 + \dots,$$

$$v(x) = 1 - x + \frac{1}{2!} x^2 - \frac{1}{3!} x^3 + \dots.$$

From above solution we derive exact solutions:

$$u(x) = e^x, \quad v(x) = e^{-x}.$$

By solution with Homotopy perturbation method we have :
 Suppose the solution of Eq.(25) have the following form

$$U = U_0 + pU_1 + p^2U_2 + \dots \tag{29}$$

$$V = V_0 + pV_1 + p^2V_2 + \dots \tag{30}$$

Using the series (29) and (30) for the linear terms $u(x)$ and $v(x)$, also for the nonlinear terms u^2v, v^2u and by Substituting Eq.(29) and Eq.(30) into Eq.(25) and equating the terms with identical powers of p , leads to

$$P^0: \begin{cases} U_0(x) = 1, \\ V_0(x) = 1, \end{cases}$$

$$P^1: \begin{cases} U_1(x) = \int_0^x U_0^2 V_0 dx, \\ V_1(x) = -\int_0^x V_0^2 U_0 dx, \end{cases} \tag{31}$$

$$P^2: \begin{cases} U_2(x) = \int_0^x (2U_0V_0U_1 + U_0^2V_1) dx, \\ V_2(x) = -\int_0^x (2U_0V_0V_1 + V_0^2U_1) dx, \end{cases}$$

⋮

Successive solution of Eq.(31) yields to

$$\begin{aligned} (U_0(x), V_0(x)) &= (1, 1), \\ (U_1(x), V_1(x)) &= (x, -x), \\ (U_2(x), V_2(x)) &= \left(\frac{x^2}{2}, \frac{-x^2}{2} \right), \end{aligned}$$

these results yields the series solutions

$$U(x) = 1 + x + \frac{x^2}{2} + \frac{x^3}{6} + \dots, \quad V(x) = 1 - x + \frac{x^2}{2} - \frac{x^3}{6} + \dots$$

we derive exact solutions:

$$U(x) = e^x, \quad V(x) = e^{-x}.$$

Solution Eq.(25) with (APM)

by lyapunov's artificial small parameter we first replace Eq.(25) by the equation

$$u(x) - p \left(\int_0^x u^2 v dx \right) = 1,$$

$$v(x) + p \left(\int_0^x v^2 u dx \right) = 1.$$

(32)

Substituting Eq.(29) and Eq.(30) into Eq.(32) and then balancing the coefficients of terms with the some powers we have

$$P^0: \begin{cases} u_0(x) = 1, \\ v_0(x) = 1, \end{cases}$$

$$P^1: \begin{cases} u_1(x) = \int_0^x u_0^2 v_0 dx, \\ v_1(x) = -\int_0^x v_0^2 u_0 dx, \end{cases}$$

$$P^2: \begin{cases} u_2(x) = \int_0^x (2u_0v_0u_1 + u_0^2v_1) dx, \\ v_2(x) = -\int_0^x (2u_0v_0v_1 + v_0^2u_1) dx, \end{cases}$$

⋮

these results yields the series solutions

$$\begin{aligned} U(x) &= 1 + x + \frac{x^2}{2} + \frac{x^3}{6} + \dots, \\ V(x) &= 1 - x + \frac{x^2}{2} - \frac{x^3}{6} + \dots \end{aligned}$$

The same exact solutions will be obtained

$$U(x) = e^x, \quad V(x) = e^{-x}.$$

4. Discussion

As it was anticipate in the abstract, three methods ADM, HPM and APM proved to be equivalent, the equivalence of the three methods have been proved theoretically, and the results are confirmed by two examples. It is worth pointing out that, the results are exactly the exact solution. The computations associated in this work were performed by using maple 12.

REFERENCES

- [1] A.M.Wazwaz,(2005).A new algorithm for calculating Adomian polynomials for nonlinear operators, Appl. Math. Comput. Vol.111 ,pp.53_69.
- [2] J.Biazar, E. Babolian, A. Nouri, R. Islam,(2003). An alternate algorithm for computing Adomian decomposition method in special cases,App. Math. Comput.Vol.138 ,pp. 523–529.
- [3] Jian-Lin Li,(2009). Adomian's decomposition method and homotopy perturbation method in solving nonlinear equations, Appl. Math. Comput. Vol.228 ,pp.168_ 173.
- [4] J.H. He,(2000) A coupling of method of homotopy technique and perturbation technique for nonlinear problems, Int. J. Non-linear Mech.vol.1, pp. 37_43.
- [5] J.H. He,(2004) Comparison of homotopy perturbation method and homotopy analysis method, Appl. Math. Comput.vol.156 ,pp.527_539.
- [6] S.J. Liao, (2003).Beyond Perturbation: Introduction to Homotopy Analysis Method, Chapman and Hall/CRC Press, Boca Raton.
- [7] S.J. Liao,(2004)On the homotopy analysis method for nonlinear problems, Appl. Math. Comput.vol.147,pp. 499_513.
- [8] S.J. Liao,(2005).Comparison between the homotopy analysis method and homotopy perturbation method, Appl. Math. Comput.vol.169,pp.1186_1194.
- [9] S. J .Liao, An approximate solution technique not depending on small parameters: a specialexample, Int. J. Non-Linear Mechanics, 1995,30(3):371-380.
- [10] Liu, G. L, New Research Directions in Singular Perturbation Theory: Artificial Parameter Approach and Inverse-Perturbation Technique, Conf. of 7th Modern Mathematics and Mechanics, Shanghai, 1997.